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GCSE in Mathematics B

Modular 2544 

Unit 2 Handling Data

Practice Paper E 

Foundation

(Calculator and Non – Calculator)
Foundation – Section A – Calculator

1.

Sarah watched a water ride at a theme park.
She counted the number of people in each of 20 boats.
These numbers are shown below.
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(a)
Complete the frequency table.

	Number of people in a boat
	Tally
	Frequency

	1
	
	

	2
	
	

	3
	
	

	4
	
	

	5
	
	


(2)

(b)
Write down the mode of the number of people in a boat.

..........................

(1)


Emily asked 5 people the number of rides each of them had been on.
The numbers are shown below.


6
8
7
6
10

(c)
Work out the mean number of rides per person.

..........................

(3)

(Total 6 marks)
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2.     Michael picks one number from Box A.
        He then picks one number from Box B.
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         List all the pairs of numbers he could pick.
One pair (1, 2) is shown.

(1, 2) ...…………………………………………………………………………………………...

.…………………………………………………………………………………………………...

.…………………………………………………………………………………………………...

(Total 2 marks)


3.
Amberish is going to carry out a survey about zoo animals.


He decides to ask some people whether they prefer:
lions, tigers, elephants, monkeys or giraffes.


Design a data collection sheet that he can use to carry out his survey.

(Total 3 marks)


4.
The table gives information about the time taken by 20 students to travel to school.

	Time (t minutes)
	Frequency
	
	

	0 < t ≤ 4
	2
	
	

	4 < t ≤ 8
	8
	
	

	8 < t ≤ 12
	4
	
	

	12 < t ≤ 16
	0
	
	

	16 < t ≤ 20
	3
	
	


Work out an estimate for the mean time.

.....................................minutes

(Total 4 marks)


TOTAL FOR SECTION A:  15 MARKS

Foundation – Section B – Non-calculator

1.
Robin carried out a traffic survey.
He drew a bar chart to show how many buses, cars, bicycles and lorries he saw.
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(a)
Write down how many cars he saw.

………………………

(1)

          (b)   How many more buses did he see than bicycles?


(1)


Robin also saw 8 vans.

(c)
Use this information to complete the bar chart.

(1)

(Total 3 marks)


2.

Here is a fair 4-sided spinner.
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The spinner has four sections numbered 2, 4, 6 and 8.
The spinner is to be spun. It will land on one of the sections.
On the probability scale below mark, with a letter, the probability that the spinner will land 

(i)
on 2   (use the letter A),

(ii)
on an odd number  (use the letter B).
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(Total 2 marks)

3.
Here is a scatter graph.


One axis is labelled “Height”.
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For this graph, state the type of correlation.


(Total 1 mark)

4.
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Here is a fair 8-sided spinner.
The spinner is to be spun once.
The spinner will land on one of the colours.

(a)
On which of the colours is the spinner least likely to land?

.....................................

(1)

(b)
On which of the colours is the spinner most likely to land?

.....................................

(1)

(Total 2 marks)



5.
The stem and leaf diagram shows information about the pulse rate of each of 15 students.

	
	Pulse rate
	

	5
	6
	8
	
	
	
	
	

	6
	0
	2
	3
	8
	
	
	Key:

	7
	1
	4
	6
	6
	8
	
	5(6    means 56

	8
	7
	8
	9
	
	
	
	

	9
	7
	
	
	
	
	
	


(a)
Work out the range of the pulse rates.

......................

(1)

(b)
Find the median pulse rate.

......................

(1)

(Total 2 marks)


6.
Natasha says the probability that she will be late for school next Monday is 1.5


Natasha is wrong.

(a)
Explain why.

...............................................................................................................................................

...............................................................................................................................................

(1)


Bryan plays a game.


The probability that he will win the game is 0.7

(b)
Write down the probability that Bryan will not win the game.

..........................

(1)

(Total 2 marks)


7.
The two-way table gives some information about the lunch arrangements of 85 students.

	
	School lunch
	Packed lunch
	Other
	Total

	Female
	21
	
	13
	47

	Male
	
	5
	
	

	Total
	40
	
	
	85


Complete the two-way table.

(Total 3 marks)


TOTAL FOR SECTION B:  15 MARKS
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Mark Scheme Paper E   

Modular 2544 Unit 2 = Data Handling

Foundation – Section A – Calculator

1 (a)


	Number of people in a boat
	Tally
	Frequency

	1
	       l
	1

	2
	       llll
	4

	3
	       l
	1

	4
	       lll
	3

	5
	       l
	1


   (b)   2

(c)   7.4

2
(1, 2),   (1, 4),   (1, 6),   (1, 8),   

(5, 2),   (5, 4),  (5, 6),   (5, 8),  

(7, 2),   (7, 4),   (7, 6),   (7, 8)

	Type of animal
	Tally
	Frequency

	Lion
	
	

	Tiger
	
	

	Elephant
	
	

	Monkey
	
	

	Giraffe
	
	


3


4  

	Time (t minutes)
	Frequency
	Mid
	Mid ( f

	0 < t ≤ 4
	2
	2
	4

	4 < t ≤ 8
	8
	6
	48

	8 < t ≤ 12
	4
	10
	40

	12 < t ≤ 16
	0
	14
	0

	16 < t ≤ 20
	3
	18
	54


Mean = 146 ÷ 17 = 8.588…   (or 8.59)

Mark Scheme Paper E   

Modular 2544 Unit 2 = Data Handling

Foundation – Section B – Non Calculator

1 (a)   22

(b)   6
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7     

	
	School lunch
	Packed lunch
	Other
	Total

	Female
	(21)
	13
	(13)
	(47)

	Male
	19
	(5)
	14
	38

	Total
	(40)
	18
	27
	(85)
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